Zxz=hA26Tmg* 7=/ N)LEH—)L 33mg &
Phenytoin 67mg and Phenobarbital 33mg Tablets

WHME (6.10) R 1EEZ LD, BRIRICAY Y~ — |k 803 ¢glZ/K 1000 mL
ZINZ 72K 900mL Z HVy, /X RAEIZ X Y, 5 100 Bl CTRBR 21T 5 .
WHRER 2B L, BUERFM %, I K 20mL 2 EfEIC & 0, BHHI23720.5C
R L72AR U Y b — |k 80 3 g (27K 1000 mL % I % 72 % 20mL % 1E 27
BELTHY. %Hﬂ&i?ﬁ%o4amuJTaxxy7%?y74wv&—~6%ﬁﬁié.
DDA 10mL ZFRE, RO A VmL % EMEICEY, RAEIIHEV 1mL
7= FA /(C15H12N202)7ﬁ"3 T0ug X V7 = / /N B X — 1 (C1aH 12N, 03)
Haopg a5k e D L H1cAR Y Y — 1 803 glZ/K 1000 mL % iz 7=
WEMx TIEMIZ VmL & L, BHAEKE T5. JlICT7 == b A SEHER %
105°CC 2 BRI #ZE L, T O/ 19mg ZHEIZEY, A X ) —VITENL
IEMIZ 50mL & L, EERE)ETD. £, 7=/ 3L E &—-M@*Em
105°C T2 FF#E L, T0OK 19mg ZHEICEY, A X ) —ILVITEMNL
IEfEIC 100mL & U, EHERKRQR)E T 5. FEHERE (1) & OFE 4 #E (2)10mL
TOEEMIZEY, RU Y /LX— k803 glZ/K 1000 mL %/ x 7=k % Iz
CTIEMEIZ 50mL & U, EHERIEE T 5. RENAR &K OFEHEPR R 20uL 32 %
EfEZED, ROFHETHEKI e~ T 77 40— Q0N X VRBREZITWV,
TNTNDERD 7 == b A L DE—Z [HIH AramM O Adsg WNTT = / 3L
EX— LD — 7 EE AromME K Asp ZTET 5.

AR HBEZW-T S REAET 5.

nlal H OB HIREEIEFIZEBIT D 7 = = A 2(CisH12N20,) D R 812 %3
LR (%) (n=1, 3)

a(n n-l a(i '
= Wsa x AT()+Z —AT()XL K><L><360
Sa i=l1 ASa 45 V Ca

nlml B OB HIKERIERICBIT D 7 =/ 2L B X — L (ChH 12N,03) D F o &
(2 %F 9 5 W H (%) (n=2)

= Wsbx ATb(n)+'§(ATb(i)xij K><i><180
Asv = V

Ass 45 Go



Wsa: 7 == b A AR UESL O FEHUE (mg)

Wsp : 7 = / /3L E X — LAY 5L O FE L& (mg)

Co :18EFDT7 == kA2 (Ci5H2N,0,)D 7R H(mg)

Co :1EFDT =/ /3L EHX—)L(C12H12N,03) D K 7R & (mg)

AR S
Bt - SO EEFH(NE K & 0 258nm)
71T A NEE 4.6mm, £ E 15cm D AT 2 L A Sum DK v~ b
T 4—HA I ET AT I BNV ERETCATD.
717 DR 40°CHHE O — E IR E
BEife : U UieAKE “F MU T A+ KT 3.58g & 7K 900mL (ZIEM L,
WD) UER(1-5) % I % T pH3.0 IZFHE L, /AKZMMZ T 1000 mL &9
5. ZOWA50mL IZ A Z ) —)L550mL A D.
M : 7= M CORFFRFMINPN S 212705 L9 ICHET .
AT LA
VAT AOMRE - AEERW 20uL [0 %, ERROSKETHRIET A EE, T
T )N —)L, Tx= b UONEICEE L, T ORI 2.0 UL
ThD.
VAT AOFBM  EREEIK 20uL 120 &, EREROSMCTRBERE 6 Bl K
TEE, T2 )NV EX = VKRN T == b A OV — 7 [HFE O F xHE U
RAXZNZIN20% U T THS.

Vo H B RS
ForE | BUERRH] P H =R
10 7> 70%LL T
Jx= bV 67mg = ° .
120 7y 70%LL I
Tz )N EH — )L 33mg 15 473 85%LL b

Tx= M UEEL T 2= U (HR).
T )NV EY —VIBERER, T NV E X —L(HR).





